RRBIFEEAR (L) FRAF

ERRRE MH-C

BRSH

NEAETE ° 0...360
MIAEME (LD ) % of meas. range  +0.3

MILME (ARFBEEDL@360°) %ofmeas.range  *0.5

=& R ° 0.1

YR bit 12

BRATEEM ° 0.1

TR IR 42 2 SRR R kHz (5)

18 IR 48 = SRR R kHz 1.66
REBEERXREERIBER us (800)
ERERXREEBLER us 4600
WMHEESRABERIK ppm/°K 100
MTTFd/MTBF F 240/ 240

fite BB R VDC 8...35
FHEARBRMFE(typ.) RIFEERX mA (19)

T AR BRIRFE (typ.) BIERRK mA 14

R/ BEEAR kOhm 10
MEBARBEAR nF 100

B R AR IR BRI yes

Hm B ERE Wires (3x)
BREKEBE mm 20.25 (AWG24)
REBSEE Cable 3pole
BIRESEEE mm 20.25 (AWG24)
TR yes
HEBSEZETRGTREL 6pole
BRELGHEEBE TR mm 20.09 (AWG28)
ROBSEZETR Cable 6pole
BRELGEEBE TR mm 20.25 (AWG24)
S H

MW ATE 360 continuous
B &5 P68
SO movements no limitation
TENER c 0 85
IEC 68-2-6 #&3h (Amax =0.75mm, f=5... 2000 Hz) ¢ 50
IEC 68-2-27 # i g 200
REME

EN 55022 class B, Emission radiated (30... 230 MHz) dBuV/m) max. 30
EN 55022 class B, Emission radiated (230... 1000MHz) aBuVv/m) max. 37
EN 61000-4-2, ESD (contact discharge  air discharge KV 4/ 8
EN 61000-4-3, Immission HF radiated (80... 1000 MHz) V/im 30

EN 61000-4-4, Burst (on all lines 144 7

EN 61000-4-5, Surge (lines to ground /4% 7

EN 67000-4-6, Immission HF conducted (0.15...80MHz) Vermnk 70

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) kV 7

MH-C2

0...360
+0.3
+0.5
0.1
14
0.1
2)
0.5
(800)
2500
100
209/209
8...35
(20)
15
10
100
yes
Wires (3x)
0.25 (AWG24)
Cable 3pole
0.25 (AWG24)
no

360 continuous
P68
no limitation
40 85
50
200

max. 30
max. 37
4/ 8

Vert X 22E 24V 0.5-4.5V
R A3

R ¥R

IR 2R

K AR B ER

R RRER

FRELET
BB SR 1P68
mFiRit
FFEp NN B 5 E
REBF
BREENE

EAREFARE

ERERSAETERNS
P RANEH

PR MH-C
7 PE 12bit
EEMH-C2EEER

FmER MH-C2

¥4 14bit
REI R M F [
MAETEEresp. AIHRE
customer (A iE)

CONIELEC

A company of the Siedle-Group

BEREEEAR (EB) BFRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



RRELER (L FRAH

WA

IE [ B B CWAR 1

B4 CCWH %2

TR, EM#BE CWHE3

TR, EB#E CCW k4

TR, RXIESHLTikS

EEBEE CW with 1 FF 5% H* T 3EA
IF [ 8 CCW with 1 JF 3¢ % 7] %B
EEBE CW with 2 FF X i H* T 3% C
T B8 E CCW with 2 FF 3¢ 5 H* W %D
MEFE 5 6 AR E A%EE

T R& e S B AR E TR

Middle point & HE¥ /5 [6] AT i% & AT i£ G

) BB S ME
3A[i&Wires 4pole
5% Wires 3pole
THE R BL 6pole
A& FRERL

BB SERE

AR AEE .48 3pole
67 3% [ i 88,48 6pole
AL FR B L

I8 SRR & B TR E A H i
T 472 Vert-X EasyAdaptl &P 03T ¥ 300m
0545 A50cm
WEes 9O B K E
0,5VDC ... 4,5VDCHR 2
B KE
0247 #1.0m
s 067 %3.0m
24VDCHR A1 107 3£5.0m
QO IE S IR K E
Vert-X 2 2 E 2 7 3 6 1 2 1 0 5
B
36HR MBS A360°
xx"#03 to 35; Declaration in 10° steps
QIR IE BRI A
1 RERRE
7MH-C
8MH-C2
AL 45 1 AR A<
22E1 7% A fR &R 3% size 9 ; R MR 1T L M3type 1
22E24F A A IR R % size 9 ; WEHE AT Ml Mtype 2
22E9FIE R HRINT ; BB R ATILG
1T il B AT LA MH-C MH-C2
iTHIAR X X
1T #4458 X X
#EOx% ... y% Ub (within 5% ... 95% Ub) X X
PRIBE K F R X X
FFXIEETTL (max. 2) X X
SRS L - X
B S A SEE 30° to 360° (ex factory) X X
BRHE AW RE (B4 - X
R R ML SR E (B &) - X
HEF F ECW/CCW AR E / Al 42 (BN &L = 50 4F) - X
RE|RAAIRE/ AIRRE @ALKERETH) - X

Vert-X 22E - 24V / 0.5 - 4.5V
Ordering code

* Switch outputs
Please define number

(max. 127), position and width
of the pulses.

Wik (BEESER)

CONIELEC

A company of the Siedle-Group

BERPaEEA (EHW) ARRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



|

RREEREAR (LB FRAF

Vert-X 22E2 xxXx XXX 5xx
Vert-X 22E2 xxx XXX 7xx

B4 (incl.)
Foooeross £ ¥z IxEERT
2x wIE AT &
84 M3x8

']
1

worwing pos tios

—
Ll
L

411 : = THRMEZ)MEERT I R
) RAHEL
i = SEREER

(N
1 -
]
N S P !

L]
3

1

74

_'_;;Tl
7

[ }]

- Tty =

4

g,
¥

Vert-X 22E2 xxx XXX 4xx
Vert-X 22E2 xxx XXX 6xx

B4 (incl.)
T o 1x B ERF
Sinbsuress ., T 2x WHTELH
worwlog cos_ Ll - $R£M3x8

1,24

=

[
L
i

TAEMEZ)ME AT R
RAHED
SERERR

1
7Bk

o
Foaas

Y

= I I

CONIELEC

A company of the Siedle-Group

EEREEEAR (L% AFRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com




A}

RREEEAR (LB FRAF

Fbaass 7 +dz
wookins oos tio
L
Lo I - =} F}E
=3
1
u vl =
1 E =
|
] L
o 4 !
s 4 | 4
I i ol g =
v
o b, =t 10,
2
Eioourcss .
worko-g pooiloizn
[_:‘I I|"|I ’l r:l ! y tll:l B
o i o o o - i L
f T}
L1 - i €
T 1 : =] 5
Ch L
N - Jl s
@J))) = |5
l{: E;
i ] L |
Y
_-.i'“ ’
i
©ina I
_l__; Sl =il
= 27 h g, 5
i -y =
=

Vert-X 22E1 xxx Xxx 5xx
Vert-X 22E1 xxx Xxx 7xx

B2 44 (incl.)
1x BIEXRF
2x WAL E
124 M3x8

TAEE (Z) MEMERITHAE RF
RAHED
SERERFR

Vert-X 22E1 xxx Xxx 4xx
Vert-X 22E1 xxx XXX 6xx

B4 (incl.)
1Ix BEXRF
2x WAL &
124 M3x8

TAEME (Z) ME MR ITHE RF
RAHED
SERERFR

CONIELEC

A company of the Siedle-Group

BREEFAR (LE) BRAT TEL:400-800-5927 3¢ T.: 18017427003

www.tifu-auto.com



RREERAR (L) FRAF

A

ST

o

Ci

Vert-X 22E2

SERERER

THENE (2)
MH-C14.40mm

MH-C JT513.90mm
MH-C214.40mm

B AMERITIE AT R KRED
dx+0.25mm

dy+0.25mm

dz+0.5mm

Vert-X 22E1
SELREER

THLE (2)
MH-C3.00mm

MH-C JT£R2.50mm
MH-C23.00mm

B AMERATHE AT R RER
dx+0.25mm

dy+£0.25mm

dz+0.5mm

CONIELEC

A company of the Siedle-Group

BEREEEAR (L) BFRAF TEL:400-800-5927 3 T.: 18017427003

www.tifu-auto.com



RRELEAR (L FRAFE

Vert-X 22E

Bt
B EX ¥

CONIELEC

A company of the Siedle-Group

BREEEA () ARAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



